
MIN 4" THICK
3000 PSI STEEL
REINFORCED
CONCRETE PAD

5/8" ANCHORBASE PLATE

 36" 
 7

6"
 (I

N
SI

D
E)

 

 7
8

1 4
" 

 6
9"

 
 73 1

4 " 

 52
1

2
"  52 1

2 " 

 4
2

1 4
" 

 42 1
4 " 

 37 3
4 " 

FEATURES
· INTERIOR FLOOR AREA

- 8.7 SF
· WALL, CEILING AND DOOR PANELS

- 1/4" STEEL PLATE
· WALL AND CEILING PANEL REINFORCEMENT

- 2"x2"x3/16" SQUARE TUBES WELDED TO WALL PANEL
· DOOR PANEL REINFORCEMENT

- 1/4" STEEL PLATES WELDED TO DOOR PANEL
· DOOR HINGE

- CONTINUOUS HINGE WITH 1-3/4" X 9" KNUCKLES
- 15/16" DIA. SOLID STEEL HINGE PIN
- CONNECTIONS MADE WITH WELDED SPLINE JOINTS

· DOOR LOCKING SYSTEM
- THREE 15/16" DIA. SLIDE BARS

· FASTENERS
- 3/4" DIA GRADE 5 BOLTS

· ANCHORING SYSTEM
- 5/8” DIA. POWERS WEDGE-BOLT+ SCREW ANCHORS

· POWDER COATED FINISH

DESIGNED AND CONSTRUCTED IN ACCORDANCE WITH
FEMA 361/320 AND ICC-500-2008

TESTED AND APPROVED BY WIND SCIENCE & ENGINEERING
RESEARCH CENTER - DEBRIS IMPACT TEST FACILITY

ATSA (AMERICAN TORNADO SHELTER ASSOC) LISTED

Hide-Away II Shelter
REVISIONS

REV. DESCRIPTION DATE BY

A RELEASE 5/15/2024 DF

B REVISED FRONT CORNERS 8/22/2024 DF

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 10232 3/4-10X3.5-CS-HX-ZP 18

2 10233 3/4-10X5.0-CS-HX-ZP 39

3 10237 3/4-10X4.0-CS-HX-ZP 6

4 10308 3/4-10-NT-NL-ZP 63

5 90049 3/8-16X0.75-CS-RD-SK-BM 8

6 11000 5/8X4.0 - POWERS WEDGE BOLT+ 11

7 15039 CHANNEL, VENT BAFFLE 4

8 17014 WLDT, WALL PNL VENTED 2

9 17070 WLDT, THRESHOLD 1

10 17075 WLDT, DOOR HEADER 1

11 17076 WLDT, DOOR JAMB L 1

12 17077 WLDT, DOOR JAMB R 1

13 17515 WLDT, CORNER REAR PANEL 1

14 17516 WLDT, CORNER FRONT L 1

15 17517 WLDT, CORNER FRONT R 1

16 17518 WLDT, CORNER CEILING L 1

17 17519 WLDT, CORNER CEILING R 1

18 18021 ASSY-SUB, DOOR 1

19 FLOOR 1

20 17071 WLDT, THRESHOLD COVER 1

21 10073S 1/4-20X0.75-CS-HS-SS 1

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 10121 1/4-20-NT-NL-ZP 6

2 10232 3/4-10X3.5-CS-HX-ZP 18

3 10233 3/4-10X5.0-CS-HX-ZP 39

4 10237 3/4-10X4.0-CS-HX-ZP 6

5 10308 3/4-10-NT-NL-ZP 63

6 10500 0.188X1.75-PN-SP-BM 2

7 10504 1/4-20X1.75-MS-PN-PH-ZP 3

8 10505 1/4-20X2.50-MS-HX-ZP-G5 3

9 90049 3/8-16X0.75-CS-RD-SK-BM 8

10 90065 SPACER, 1/4 X 0.125, NY 3

11 91029 BALL KNOB 6

12 11000 5/8X4.0 - POWERS WEDGE BOLT+ 11

13 11010 BRNG, NDL, 1.0X1.563X0.078 6

14 11011 BRNG, THR, 1.0X1.563X0.032 12

15 11038 WELD NUT, 3/8-16X5/8 8

16 12006 TUBE, WALL PNL VERT 12

17 12007 TUBE, WALL PNL HOR 4

18 12008 ANGLE, WALL PNL 2

19 12011 PLATE, END PANEL VENTED 2

20 12033 BAR, DOOR VERT 1

21 12034 TUBE, LATCH BAR 3

22 12036 TUBE, HINGE 7

23 12039 PLATE, HANDLE POCKET 1

24 12040 PLATE, POCKET SIDE LONG 1

25 12041 PLATE, POCKET SIDE SHORT 1

26 12099 ROD, DOOR HANDLE 2

27 12131 PLATE, DOOR VERT 2

28 12160 PLATE, DOOR HINGE SPPRT 1

29 12161 PLATE, DOOR HOR 3

30 12166 PLATE, DOOR SKIN 1

31 12170 PLATE, DOOR HEADER 1

32 12171 TUBE, DOOR HEADER HOR 1

33 12172 TUBE, DOOR HEADER VER 3

34 12173 PLATE, DOOR HEADER MNT 4

35 12174 PLATE, DOOR JAMB 2

36 12175 TUBE, DOOR JAMB 2

37 12176 ANGLE, DOOR JAMB 2

38 12177 PLATE, DOOR HINGE 1

39 12178 TUBE, DOOR HINGE 1

40 12180 PLATE, LOCKBAR COVER 3

41 12181 PLATE, LOCKBAR COVER MNT 3

42 12184 BAR, HEADER SPPRT 1

43 12185 BAR, HEADER GUSSETT 1

44 12186 TUBE, DOOR JAMB HOR 4

45 12187 ANGLE, LATCH PNL 2

46 12188 BAR, THRESHOLD 1

47 12191 SPACER, DOOR HINGE 2

48 12540 PLATE, CORNER REAR PANEL 1

49 12541 PLATE, CORNER REAR GUSSET 3

50 12542 PLATE, CORNER FRONT PANEL 2

51 12543 PLATE, CORNER FRONT GUSSET 6

52 12544 PLATE, CORNER CEILING 2

53 12545 TUBE, CRNR CEILING 1 2

54 12546 TUBE, CRNR CEILING 2 2

55 12547 TUBE, CRNR CEILING 3 2

56 12548 TUBE, CRNR CEILING 4 2

57 15001 ROD, DOOR HINGE 1

58 15002 TUBE, HINGE CAP 2

59 15039 CHANNEL, VENT BAFFLE 4

60 15045 ROD, LOCKBAR 3

61 FLOOR 1

62 13032 0.250X1.25 HRS BAR 0.15

63 13030 0.250X0.75 HRS BAR 0.11

64 10073S 1/4-20X0.75-CS-HS-SS 1

D

C

B

AA

B

C

D

245678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
YOUR OUTDOOR, LC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
YOUR OUTDOOR, LC IS PROHIBITED.
INFORMATION SUBJECT TO CHANGE 
WITHOUT NOTIFICATION.

PROPRIETARY AND CONFIDENTIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/4
ANGULAR: 0.5°
ONE PLACE DECIMAL    0.1
TWO PLACE DECIMAL    0.01
THREE PLACE DECIMAL  0.005

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL

FINISH

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

DATENAME

TITLE:

SIZE

B
DWG.  NO. REV

WEIGHT: 

UNLESS OTHERWISE SPECIFIED:

B

6/27/2023

SHEET 1 OF 1

FXII - CRNR
DO NOT SCALE DRAWING LBS




